
рооэпоЧи

огоншажос9

пиряиншорьА

вохитоикиэк

аи

‘Ипи

хпхраъпоп

си

эажльш

в

‘ророноди

огоншэжоо9

эомпиш2юь(

иошэээ

ипанооэ))

02

пп9ш2и29002

Я|

зоичкифоних

иипвалонойог

итого

я

чтоончиотвэ{

76$

"6

Яэпне1,

кояш

‘хэлохоиг

‘хогешониинет

чтоонакотвэ

С'6С'66

“С

ватозьаоят

олонтофен

чомог

чааАтанАя

яооп

и

вопаояи

‘чоодих

еПи1.

отонодих

ииноижодь^

чтоончкотво

$'Р0`06

-

итоончкотвог

вия

эинеяонэииеН

ГеЯЯО

Го

п/пом

3
ВИНОИЖОЧЬА

отончиепипинАиИ

итоончнотвог

19пия

э1анаонэо

(изл4еах

$)
т

1<0с

ваовтноо

(06

оп

висли

10
2

поидэн

ичнлэьто

$

Зоол

5С0с

и
сс0С

Поиаэн

ивяонеии

ен

и

Пол

1505

ен

15\

ВИНУПУ$

ОЛОНЧКУПИПИНАИ

ИИНЯНКОШАЯ

О

(впнэржайЬА

эпноэонзитрн)

«олохозэиа&-виавиозаэ

еподот

1чаАланАх

мо»

чалтячилхя

эиногжэаь^

эонаиепипинки

УНБТО



«шарэ1аёрмо

эн

пгКиз«

эпнаржа4ь

д»
ашрёрмА

оитоохдоан

|
пшэрр

омэогогое

эиоои

ош

‘2Ки2к

шарэлаёрмо

эн

эпнаржа4ЬА

пи

‘иэпнроре

2

ппяииэшоо2

9

пеКизА

шэряазрхо

эпнаожа4ь(

пира

‘эрь

и
9

вошохапиаоф

|
ашовр

2

ханноКочо4и

ЛоНЧиэтвэГоивЭ

ватоэьБинох

иинеяоЧии4оф

олэшоо

и

иинечоди^

оф

\

то

хчиоо4Ея

вит

хжанодих

(%5)

тн

иитвидподэи

ХвИЗОоХ

илоончкотвон

 600000УУ

8/9

-

СЕ

0+

07

0$

эпо4и

во]

хан4деноипе1о

Я

випе5ине190|Ч`0'66'0916676

ОТ

6

8

Ё

9

6

ф

Е

С

т

С

=

о

о

5

о

5

=

=

ме

—^

зы

5

<
<

ка

‘<

=

=

3

ЕВЕ

3

ЕЕ

ЕЕЕ

2

2-

се

ЗЕЕ

28

ЕВЕ

ЕЕ

=

кбенае

ЕЕ

ЗВЕЯ

БЕЗ

ва

ва

Бенно

ЧЕ

а

ыЯ

С

о

он

ЕБВООН

5

нь

нь

2

в

я

тео

не

5

8

в=Я

с

о

=

воончноев

НН

НЕЕ

-поа

3

ан

я

Фо

Ен

оЕ

С

яя

[

Ра

2

нЕ"

Е

о

илАкол

ИЗИПе$

м

иончиепипинАИ

ИЛАКОА

иояоЧтоээ4

ВИНРЕРХО

иончиепипинАй

экон

ичАНох

иончиепипинАи

езлоэьеях

игэтеея0]

]

(чи^4оф)

вичонод|эинвжаэгоЭ

ианчиехин

д.

ИТАГОА

ИОНЧГЕПИПИНАИ

ВЯТЭЭЬЕЯ

ИГТ

ЕО

П

(1

эпики

эихоэьииф

илАноА

иончиепипинАи

иэколиодэдтон

иидолэтея

8299

отньэЧэн

(Амояэгов@

1.0)

Аионо=е9

оп

илАнох

пох

зятоэьаоят

олонпо4ен

олончиотвэпоиео

ииненодил

оф

и

иинечодиидоф

ханолих

итоончколвой

випезинелао

илАКОА

иончиепипинАи

эинечономиеН

Г
иэиее

схелАНоА

ханчиепипинАи

хчиэвячеехо

90

винэгэяо

‘|
чтоеь



(%6)

98

ГЕ

[159

[169

тн

эподи

(аочждая)

ииПяээ

ханпеихин

-оняитедояэн

яохинтовьА

вино

(%5)698°0=

ИТ

ТН

эподи

(аояжАЯЯ)

иипхэ>

хчяоох

и

хэчнакехоя
яохинтовь^

ВиО

(%6)190

И

тн

эпоап

(аохжАЧ»)

ииПЭ5

хи

хоэБифе4лоэдох

яохинловьА

ВиО

(5)7‘
0=

тн

эподн

(аочжАЧх)

ииПхэЭ

ханаиетеэл1,

яохинтовьА

ВиО

(%$)6=

09

09

09

ТН

эподи

иилвиЧпод

эм

хчаннэгэчоЧи

затоэвииох

олэшоо

10

 вялоэшоно

и

Иэи

вии

иитвидподэи

ВиО

иитвиаподэи

зятоэьоят,

олонподен

о



(%$)
$“
Т=

96

96

96

зп
инипэ

(эоншодоли

т)

[5№

кэито

ия

наиеидотиа

95],

(%5)СС

ес

С
*

СЕ

вп

инипЭ

(8

‘венпоФен‘ии)

«олохоээиве-вияеиоэаэ]

зго4ол

чААтянАхя

ко»

Я^И

затоэьоял,
олонпофен

ОлОНЯИЭТЕэНоивЭ

эпоиь

Иот

Я

эатоэьЧоят,

(9,5)©С9=

ес?

©]

СС

п
иниго

олонто4ен

ол

ОНЧИЭТЕЭКоивЭиинечо4ииоф

ханодия

оятоэьикоя

ХЕИЗОГОЛ

ханаеноипето

Я

иинечоЧииоф

и

иинечодии

оф
хэчнодих

илоонакоткэи
випе5ине19О

00000УУ8299`0`66'091667б

ОТ

©^

со

—

№)

д

ф

сС

С

кинэноиялю
еэниьиЯп

эинэьен&
(эонжомеоя)
эомилоАног

ээшотепичяэ и
‘эинэногято

эинэногято
(Зонжои0Я)
эожитэАпог

Атег оАнлэьто
ен онэнкопои

АТЗИ ОАНтЭБто
ен иинеи8$

ионаиепипинАИ
я онэиждэат.^

ПОГ ен ИИНеИВЕ

монаиепипинАй
я оноижаоят, А

кинодоиеи епинипо

ВИЭТ8$58ХОП

эИНечОНУмиИенН

иИЛАКОА

ИОНЧиепипинАИ

ви

99.00

ИГЭ12

50]

]

илАКОХиончиепипинАивИНВЕРХО(чиоф)

ИЗО

д.

ИЛАКОАиончиепипинАиэинежэоЭ

изипе$

ио

ЯоЧтоээа

экон

ич

Наиехин

д.

ИЛАИЭА

ИОНЧЕЕПИПИНАЙ

8и93.00

ИГ

60

(С



(ояэпне=ва)

(%5)

вп!

[5м№

кэпто

ич

ТЕ

8С

8С

8С

ини

|
нчизидотиЯ

1,

(эчаотен)

(%5)

вп|

 1[5№

ито

ия

СИТ

СЕ

СЕ

се

иниго|нчиеидоти4

9|,



яо1э4пе$

вика

витвно

65м

экооп

винэкээвн

(%51/°65)

(%5)

э|

поито

ичнаи

випезияитхгу

ТСрУ+

055=|15551|0090|ТЗДУТ|ячокэь|

видотиа9э1,

"Пол

1505

энет4еяя

ся

иитвиапо4эи

виногэчо4и

ен

(эч4отен)

я01эЧие$

ева

витвно

5

экооп

винэкээвн

(%5*8)

(0%.с)

э|

попто

ичнаи

випезинилху

566814

|6'119т

ССС

05681|$68

8Т

|чоиэв|

виаотиааэ1,

пол

1505

энетАвяя

ся

иитвиано9эи

(20

виногэчо4и

ен

нпоЧотиЯ]

|)

чотэ4ие$

ева

витвно

15№

экооп

винокээвн

(%+‘96)

(96)

яэ|

поито

ичнаи

БИПЕБИЧИТУ

у

‘018

7+

|9'°565+

6/97

050

|
60У5Т

оков|зидотиа9э1,

Пол

1505

экетАеяхя

ся
иитви4

поди

виногэчо4и

ен

чо1эие$

ева

витвно

эиооп

виноиээвн

вИПе5ИЗИТЯУ

"олохэяэн

вАинеохэку

(Зенон

ВЕН

0.10329А4

ии)

олохикоя

винэпжоЯ

«олояэээиее

ЕНИ

09

ИТ

-вичегоэ9э

-008

олоннэшвяоонп

вподол

‘вхиниЕви

(%6°0)

(%5)

яэ

чААзякАЯ

иИНЭНочоЧи

я

ЭИТоеЬ

д,

ФЕТ

Оф

|
7295Т

00871

659

05

|чоиэь|

мо»

хи

иитвиаподэи

вИНэПэяоЧи

ен

яотэЧие$

епкА

вкилкно

эиооп

винонээен



оп

винэьвинеат0

0:5С-

ЕЕ

601

ОР

СЗ]

впинино

Я^И

`иитвиднодэиханнопочоиоятоэБикох

чэопечиьикояд

‘(61

-СПАОр

винезоодзат.)

иилвиаподэи

ен

яочоиэь

еятоэвикох

‘эпоиь

вИНШаноиА

хвкоп

Я

ио1

Я

"ЯПО

иихояонеид

ину

чмо

Апохл

0505

ИИт,

Я
Яо

иихозэчаотен

виподэи

иитвиаподэи

‘Яо

иихониядо

]

хан

хчяоээви

“ЯПО

иихояээино9эч

ногэяои

—

онаАтанАх

инеяо4иноипхянАф

эн

(%8‘9Т-)

(%6)

оя|

тчнезехяА|

эинэгочоЯи

и

10065005800

отатооникоп

АГол

6105

Я

б°ЕРС-+

[69

=

691

ТЕТ

ТУТ

впиниго|1оэъикоя

ЭН|

випезине1ао|[‘9/'4‘01$006

От

6

8

Ё

9

с

Р

Е

С

т

о

о

тнЗе

он

ЗЕ

аа

аа

а

Е

=

дон

953

=

ШЕЕ

=

бы

Е

ЗЕЗЕЯ

888

вы

вно

85

5

ча|1910084

о

а
в

аи

нен

Е

в

ВИ

ИЗИНе$

С

нонкотшчая

иочоЧтоээа

(чиаоф)

1910084

эион

410084

виэч.00

иготеехо

виЯоГох|эинеждэгоэ|ичнаиехинл

1910054

:иэ900

ИГТ

ОП

(<

"Пот

1505

экет4еяхя

ся

иилвианоЧэм\

винэпэчо4и

ен

(очэпне=Еа)



-СлОЭ

винеяоодэат.)

иилкиапоЧэи

вн

яочоиоь

вятоэвикох

винэшаноих

хвиоп

Я

"ПО

иихочонеидину

что

Апол

0505

(эчаотен)

Я
УПО

иихозэчаотен

С5№

кэило

ивяоЧиноипхнАф

эн

(%1

65)

(%5)

ичнакви

оатоониой

Апол

6105

Я

©1901

СЯ

[ЕЕ

696

16$

2/6

епиниго|ЧотиЯ

91,

"иитвидподэиханнопочоЯиоятоэБииох

чэонечиьиноял

‘(61

-СПАОЭ

5инеяо9э41,)

иитвиЧ

поди

зн

хэяогоь

ватоэБикох

винэшчнэиА

хвиоп

Я

"(ихяетотчя

‘витки

пои)

«видотои

(>они

венвник

|»

иоляооЧи

одоти

э
ЯГО

олохочонеяИ

15№

иэито

чохини

Ато

(%/*96)

(%6)

ичнакви

этооЪа

венчитяу

СГе61+

68°61=

0/5

166

ес

эпинипо|ЧотиЯ

9],(8

венпо@ении)

«о

лохэээнея

-ВИ

яеиоэаэ

вго4ол

"61-СПЛОЭ

3

чААтяиАхя

-5и

АИ

отинокочо4и

(%Р0°8Т)

(%6)

ио»

\



911<0с

Нг$

и

|
=:

Ч

1<0С

зяэпяоаоч

Н*

5
оломооио6

=
ет

оао

вяолифоа1,

УТ,

ии,

в14опо

и

ижэнокой

‘визиЧАт

‘ча4АтяиАх

вкиноияеап

д

хинчиеьен

‘ОНУЗООУГЛОО

"иитвидпоЧэиханнопочо4ноятоэБикох

чоопечиьикоял

‘(61

-С(ПАОЭ

винеяооэат,)

иитвидиодэи

вн

эяогоь

вялоэвикох

вИНоШчноиА

хвиоп

Я

(о

"ЯГо

иихониядо

|

чэпне$в‹)

“УПО

иихочээинэ4эа

Сом

иэито

инечодиноипхнАф

эн

(%6°6)

(%5)

ичнчиеи

отатоонкоп

АКол

6105

Я

СОСеЬ

5‘05С=

05+

10+

05$

эпинипо|ЧотиЯ

Чэ
1,

"иитвиЧпоэиханнэнэяо4иоятоэьигох

чоокечиьигоях

“(61


